#### CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

DEPARTMENT:

El Paso Fire Department

AGENDA DATE:

12/08/15

CONTACT PERSON/PHONE: SAMUEL PEÑA, FIRE CHIEF, 485-5605

BRUCE D. COLLINS, PURCHASING DIRECTOR, 212-1181

DISTRICT (S) AFFECTED: ALL

STRATEGIC GOAL: 2 - Set the Standard for a Safe and Secure City

#### SUBJECT:

The El Paso Fire Department recommends the award of Solicitation 2016-251 Apparatus Tires to Redburn Tire Company, for a three (3) year term in the estimated amount of \$557,486.34.

#### BACKGROUND / DISCUSSION:

The El Paso Fire Department has reviewed solicitation 2016-251 and recommends the contract be awarded to Redburn Tire Company, for apparatus tires for an estimated annual amount of \$185,828.75; as the bidder offering the best value to the City of El Paso.

#### SELECTION SUMMARY:

The email (Purmail) notification was sent out on 9/28/2015. The solicitation was posted on the City website on 9/29/2015. Solicitation was advertised on 9/29/2015 and 10/6/2015. The postcards were mailed out on 9/30/2015. A total of thirty-eight (38) bids were solicited, including thirty-two (32) local bidders. A total of four (4) bids were received, including one (1) local vendor.

#### PRIOR COUNCIL ACTION:

Council approved No. 2012-307 for Apparatus Tires on November 13, 2012.

#### AMOUNT AND SOURCE OF FUNDING:

Department: 322-Fire; Division: 22090 - Logistics; Fund: 1000 - General Fund; Program: P2216 -Emergency Apparatus Fleet: 531180 - Vehicle Maintenance Supplies.

#### **BOARD / COMMISSION ACTION:**

Name

Enter appropriate comments or N/A

\*REOUIRED AUTHORIZATION\*\*\*\*\*\*\* 11/19/2015

DEPARTMENT HEAD:

Mario 1. D'Assti-0

# COUNCIL PROJECT FORM (LOW BID)

**************************************	*******
I OUTING LANGUAGE BELOW	

Please place the following item on the **REGULAR** agenda for the Council Meeting of **DECEMBER 8, 2015**.

#### Strategic Goal 2: Set the Standard for a Safe and Secure City

Discussion and action on the award of Solicitation No. 2016-251 Apparatus Tires to Redburn Tire Company, for an initial three (3) year term in the estimated amount of \$557,486.34.

Department:

Fire Department

Award to:

Redburn Tire Company

Sunland Park, NM

Item(s):

ΑII

Initial Term:

3 vears

Annual Estimated Award:

\$185,828.78

Total Estimated Award:

\$557,486.34 (3 years)

Account No.:

322-22090-531180-1000-P2216

Funding Source:

General Fund – Vehicle Maintenance Supplies

District(s):

Αll

This is a Low Bid, unit price contract.

The Purchasing & Strategic Sourcing and Fire Department recommend award as indicated to Redburn Tire Company, the lowest, responsive and responsible bidder.

American Tire Distributors does not have after hours emergency delivery and due to manufacturer regulations pricing was only available for a twelve month period. It is recommended that they be deemed non-responsive.

Bridgestone Americas Tire Operations, LLC dba GCR Tires of Service Np. 829 omitted to submit the bid form and it is recommended that they be deemed non-responsive.





**Solicitation #: 2016-251** 

Department: FIRE

**Project Name: APPARATUS TIRES** Bid Opening Date: OCTOBER 14, 2015

				DISTRIE	AN TIRE BUTORS LTON, TX	TIRE OPERA DBA GCF SERVICE	NE AMERICAS ATIONS, LLC R TIRES & E NO. 829 SO, TX	IN	Y MOTORS C. ND, TX
NO.	DESCRIPTION	MINIMUM	IATED QUANTITY	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D
1.	12 R 22.5 CODE: G-182 RSD	(A) 1	(B) 100	\$499.50	\$49,950.00	NO BID	\$0.00	\$560.00	\$56,000.00
	PRODUCT BRAND AND PART	NUMBER		GOODYEAR G182 #138302669				MICHELIN XDN2 51753	
2.	LT 235/ 85R 16 CODE: WRANGLER HT	1	10	\$131.24	\$1,312.40	NO BID	\$0.00	\$112.00	\$1,120.00
	PRODUCT BRAND AND PART	NUMBER		GOODYEAR WRANGLER HT #744725502				FIRESTONE TRANSFORCE HT 189718	
3.	315/ 80R 22.5 CODE: M-860	1	40	\$506.13	\$20,245.20	NO BID	\$0.00	\$475.00	\$19,000.00
	PRODUCT BRAND AND PART	NUMBER		BRIDGESTONE M860A #244329		I	BF GOODRICH ST230 (55458)		
4.	225/ 70R 19.5 CODE: ST-230	1	150	\$203.67	\$30.550.50	NO BID	\$0.00	\$238.00	\$35.700.00
	PRODUCT BRAND AND PART NUMBER			FIRESTONE FS560+ #227057				BF GOODRICH ST230 (74208)	
5.	245/ 70R 19.5 CODE: ST-230	) 1	6	\$282.57	\$1,695.42	NO BID	\$0.00	\$246.00	\$1,476.00
	PRODUCT BRAND AND PART	BRIDGESTONE R250F #227295				BF GOODRICH ST230 (89688)			

APPROVE	D BY: <u>/s/</u>
DATE:	10/27/15





Solicitation #: 2016-251

Project Name: APPARATUS TIRES

Bid Opening Date: OCTOBER 14, 2015 Department: FIRE

2:a 0 po	illing Date: OCTOBER 14, 2015			T				Depar	tment: FIRE
				DISTRI	AN TIRE BUTORS LTON, TX	TIRE OPER DBA GCI SERVICI	NE AMERICAS ATIONS, LLC R TIRES & E NO. 829 SO, TX	IN	Y MOTORS IC. ND, TX
NO.	DESCRIPTION	ANNUAL ESTIM MINIMUM (A)	ATED QUANTITY MAXIMUM (B)	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D
6.	11 R 22.5 CODE: DR-444	1	20	\$335.99	\$6,719.80	NO BID	\$0.00	\$346.00	\$6,920.00
	PRODUCT BRAND AND PART	NUMBER		FIRESTONE F	D691 #241558			BF GOODRICH	I DR444 (77081)
7.	385/ 65R 22.5 CODE: T-839	1	36	\$441.40	\$15,890.40	NO BID	\$0.00	\$400.00	\$14,400.00
	PRODUCT BRAND AND PART	NUMBER	'	FIRESTONE T839 #294586				ROADMASTER RM230WB (93438)	
8.	425/ 65R 22.5 CODE: T-839	1	16	\$503.14	\$8,050.24	NO BID	\$0.00	\$465.00	\$7,440.00
	PRODUCT BRAND AND PART	NUMBER		FIRESTONE T839 #294594		-		ROADMASTER RM230WB (93442)	
9.	445/ 65R 22.5 CODE: T-839	1	10	\$551.68	\$5,516.80	NO BID	\$0.00	\$475.00	\$4,750.00
	PRODUCT BRAND AND PART NUMBER		FIRESTONE T839 #294608				ADVANCE GL689A (88427G)		
10.	LT 215/85R 16 CODE: TRANFORCE HT	1	16	\$98.52	\$1,576.32	NO BID	\$0.00	\$102.00	\$1,632.00
	PRODUCT BRAND AND PART e information contained in this bid tabulation i	FIRESTONE TRANSFORCE HT #189701				FIRESTONE TRANSFORCE HT (189701)			

APPROVED	BY: <u>/s/</u>	
DATE:	10/27/15	





Project Name: APPARATUS TIRES

Bid Opening Date: OCTOBER 14, 2015

**Solicitation #: 2016-251** 

Department: FIRE

				DISTRII	AN TIRE BUTORS LTON, TX	TIRE OPERA DBA GCI SERVICI	NE AMERICAS ATIONS, LLC R TIRES & E NO. 829 SO, TX	BROADWA	Y MOTORS IC. ND, TX	
NO.	DESCRIPTION	ANNUAL ESTIM MINIMUM (A)	ATED QUANTITY MAXIMUM (B)	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D	
11.	LT 245/70R 17 CODE: TRANSFORCE HT	1	40	\$114.74	\$4,589.60	NO BID	\$0.00	\$118.00	\$4,720.00	
	PRODUCT BRAND AND PAR	T NUMBER		FIRESTONE TRANSFORCE HT #191316				FIRESTONE TRANSFORCE HT (191316)		
12.	LT 265/70R 17 CODE: TRANSFORCE HT	1	10	\$128.68	\$1,286.80	NO BID	\$0.00	\$132.00	\$1,320.00	
	PRODUCT BRAND AND PAR	T NUMBER		FIRESTONE TRANSFORCE HT #200156				FIRESTONE TRANSFORCE HT (200156)		
13.	LT 235/85 R 16 TRANSFORCE AT	1	10	\$114.46	\$1,144.60	NO BID	\$0.00	\$118.00	\$1,180.00	
	PRODUCT BRAND AND PAR	T NUMBER		FIRESTONE TRANSFORCE AT #189633				FIRESTONE TRANSFORCE AT (189633)		
14.	24 R 21 CODE: XZL	1	10	\$2,197.54	\$21,975.40	NO BID	\$0.00	\$3,010.00	\$30,100.00	
	PRODUCT BRAND AND PART NUMBER		BRIDGESTONE VGT E-2 #418951				MICHELIN X2L (76025)			
15.	LT 245/70 R 17 CODE: LTX A/S	1	10	\$167.51	\$1,675.10	NO BID	\$0.00	\$166.00	\$1,660.00	
	PRODUCT BRAND AND PART NUMBER				MICHELIN LTX A/S #00644				MICHELIN LTXM52 (00644)	

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED	BY:	<u>/s/</u>

DATE: <u>10/27/15</u>





Project Name: APPARATUS TIRES Bid Opening Date: OCTOBER 14, 2015

Solicitation #: 2016-251 Department: FIRE

	ing bate. OCTOBER 14, 2015								tment: FIRE
				DISTRIE	AN TIRE BUTORS LTON, TX	TIRE OPERA DBA GCF SERVICE	NE AMERICAS ATIONS, LLC R TIRES & E NO. 829 SO, TX	BROADWA IN	Y MOTORS C. ND, TX
NO.	DESCRIPTION	ANNUAL ESTIN MINIMUM (A)	IATED QUANTITY  MAXIMUM (B)	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D
16.	P 235/ 70 R 17 VOFR: DYNAPRO AS 108S	1	10	\$129.27	\$1,292.70	NO BID	\$0.00	\$100.00	\$1,000.00
	PRODUCT BRAND AND PAR	T NUMBER		II .	3 AS DYANPRO 8686				DESTINATION 97776)
17.	12R22.5 G-622 RSD	1	40	\$495.84	\$19,833.60	NO BID	\$0.00	\$560.00	\$22,400.00
	PRODUCT BRAND AND PAR	T NUMBER		GOODYEAR G622 #138302265				MICHELIN XDN2 (51753)	
18.	LT 235/80R 17	1	10	\$114.34	\$1,143.40	NO BID	\$0.00	\$116.00	\$1,160.00
	PRODUCT BRAND AND PAR	T NUMBER		FIRESTONE TRANSFORCE HT #191282				FIRESTONE T HT (19	RANSFORCE 91282)
19.	LT 245/75R 17	1	40	\$118.66	\$4,746.40	NO BID	\$0.00	\$121.00	\$4,840.00
	PRODUCT BRAND AND PAR	T NUMBER		FIRESTONE TRANSFORCE HT #207483			FIRESTONE TRANSFORC		
	TOTAL SECTION A (ITEMS	1-19)			\$199,194.68 BIDDER'S PRICE \$173.471.28		NO BID		\$216,818.00 BIDDER'S PRICE \$188.418.00
		Alleria Alleria		TOTAL ANNUAL PRICE	3 YR TOTAL	TOTAL ANNUAL PRICE	3 YR TOTAL	TOTAL ANNUAL PRICE	3 YR TOTAL
GRAND TOTAL SECTION A					\$597,584.04 BIDDER'S PRICE PLEASE SEE NOTE	NO BID	\$0.00	\$216,818.00 BIDDER'S PRICE \$188.418.00	\$650,454.00 BIDDER'S PRICE \$565,254.00.00

The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

DATE: \_\_\_\_10/27/15\_





**Project Name: APPARATUS TIRES** 

Bid Opening Date: OCTOBER 14, 2015

Solicitation #: 2016-251

Department: FIRE

Bid Opening Date: OCTOBER 14, 2015			Department: FIRE
	AMERICAN TIRE DISTRIBUTORS CARROLLTON, TX	BRIDGESTONE AMERICAS TIRE OPERATIONS, LLC DBA GCR TIRES & SERVICE NO. 829 EL PASO, TX	BROADWAY MOTORS INC. MIDLAND, TX
OPTION TO EXTEND THE TERM OF THE AGREEMENT			
THE CITY AT ITS SOLE DISCRETION, MAY EXERCISE ANY OPTION TO EXTEND THE TERM OF THE AGREEMENT, BY GIVING THE CONTRACTOR WRITTEN NOTICE WITHIN THE TIME PERIOD NOTED ON THE SELECTED OPTIONS. THE TERM OF THIS CONTRACT SHALL BE BASED ON ONE OF THE SELECTIONS BELOW AND UNDER THE SAME TERMS AND CONDITIONS. THE CITY MANAGER OR DESIGNEE MAY EXTEND THE OPTION TO EXTEND.			
BIDDER OFFERS THE CITY THE OPTION OF EXTENDING THE TERM OF THE CONTRACT FOR:			
TWO (2) ADDITIONAL YEARS AT THE SAME UNIT PRICE(S), IF THE OPTION IS EXERCISED PRIOR TO THE EXPIRATION OF THE ORIGINAL TERM OF THE CONTRACT:		X	
NO OPTION OFFERED	X		
PAYMENT TERMS:	NET - 30 DAYS	NET - 30 DAYS	NET - 30 DAYS
BIDDER'S PROMISED DELIVERY: Within consecutive calendar days	1 TO 2	3	
Within hours or overnight after receipt of verbal order in cases of emergency.	24	48	
IF BIDDER DOES NOT SPECIFY AN EARLIER DELIVERY, THE CITY'S REQUIRED DELIVERY SHALL PREVAIL. A DELIVE	RY DATE LATER THAN THE CITY'S REQ	UIRED DELIVERY MAY BE CAUSE FOR RE	JECTION OF THE BID.

APPROVED	BY:	<i>lsl</i>
DATE.	40/27/4	_





Solicitation #: 2016-251

Department: FIRE

Project Name: APPARATUS TIRES
Bid Opening Date: OCTOBER 14, 2015

	Opening Date. OCTOBER 14, 2015	r				Depai	unent: rike		
				COM	RN TIRE PANY PARK, NM	·			
ITEM		ANNUAL ESTIM	ATED QUANTITY	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D)	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D)	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D)
NO.		MINIMUM (A)	MAXIMUM (B)	(0.)	(B) X (C.) = D	(0.)	(B) X (C.) = D	(0.)	(B) X (C.) = D
1.	12 R 22.5 CODE: G-182 RSD	1	100	\$393.25	\$39,325.00	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PART	Γ NUMBER		#151009 FIRESTONE FD663					
2.	LT 235/ 85R 16 CODE: WRANGLER HT	1	10	\$119.96	\$1,199.60	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PART	Γ NUMBER		#189633 FIRESTONE TRANSFORCE AT					
3.	315/ 80R 22.5 CODE: M-860	1	40	\$569.89	\$22,795.60	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PAR	Γ NUMBER		#244329 BRIDGESTONE M860A					
4.	225/ 70R 19.5 CODE: ST-230	1	150	\$207.43	\$31,114.50	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PART NUMBER		#227057 FIRESTONE FS560 PLUS						
5.	245/ 70R 19.5 CODE: ST-230	1	6	\$227.50	\$1,365.00	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PAR			FS56	RESTONE PLUS				

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED	BY:	<u>/s/</u>

DATE: 10/27/15





Project Name: APPARATUS TIRES

Bid Opening Date: OCTOBER 14, 2015

Solicitation #: 2016-251

Department: FIRE

				СОМ	RN TIRE PANY PARK, NM				
NO.	DESCRIPTION	ANNUAL ESTIM MINIMUM (A)	ATED QUANTITY MAXIMUM (B)	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D) (B) X (C.) = D
6.	11 R 22.5 CODE: DR-444	, 1	20	\$284.16	\$5,683.20	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PAR	T NUMBER		#156531 FIRESTONE FS560 PLUS			1		
7.	385/ 65R 22.5 CODE: T-839	1	36	\$450.16	\$16,205.76	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PART NUMBER			#294586 FIRESTONE T839					
8.	425/ 65R 22.5 CODE: T-839	1	16	\$511.90	\$8,190.40	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PAR	T NUMBER		#294594 FIR	ESTONE T839				,
9.	445/ 65R 22.5 CODE: T-839	1	10	\$560.44	\$5,604.40	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PART NUMBER			#294608 FIRESTONE T839					,
10.	LT 215/85R 16 CODE: TRANFORCE HT	1	16	\$103.52	\$1,656.32	\$0.00	\$0.00	\$0.00	\$0.00
NOTE: The	PRODUCT BRAND AND PAR			li	RESTONE ORCE HT				-

APPROVED	BY: <u>/s/</u>	
DATE:	10/27/15	



**Project Name: APPARATUS TIRES** Solicitation #: 2016-251 Bid Opening Date: OCTOBER 14, 2015

Department: FIRE

	mig Dater Corobert 14, 2010							Depar	tment: FIRE
				COM	RN TIRE PANY PARK, NM				
NO.	DESCRIPTION	MINIMUM	ATED QUANTITY  MAXIMUM	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D)	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D)	UNIT PRICE (C.)	TOTAL PRICE ANNUAL (D)
11.	LT 245/70R 17 CODE: TRANSFORCE HT	(A) 1	(B) 40	\$121.13	(B) X (C.) = D \$4,845.20	\$0.00	(B) X (C.) = D \$0.00	\$0.00	(B) X (C.) = D \$0.00
	PRODUCT BRAND AND PART NUMBER			#200173 FIRESTONE TRANSFORCE AT					
12.	LT 265/70R 17 CODE: TRANSFORCE HT	1	10	\$134.18	\$1,341.80	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PART NUMBER			#200156 FIRESTONE TRANSFORCE HT			1		
13.	LT 235/85 R 16 TRANSFORCE AT	1	10	\$119.96	\$1,199.60	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PART NUMBER		#189633 FIRESTONE TRANSFORCE AT (SAME AS LINE #2)			4			
14.	24 R 21 CODE: XZL	1	10	\$2,211.30	\$22,113.00	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PART NUMBER		#418951 BRIDGESTONE V-STEEL G-TRACTION			1			
15.	LT 245/70 R 17 CODE: LTX A/S	1	10	\$121.13	\$1,211.30	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PART NUMBER			TRANSF	RESTONE ORCE AT SLINF #11)		I.		

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED	BY:	/s/

DATE: 10/27/15





Solicitation #: 2016-251 Department: FIRE

Project Name: APPARATUS TIRES Bid Opening Date: OCTOBER 14, 2015

	ing bate. GOTOBER 14, 2015					II.		Веран	ment. FIRE
				COM	RN TIRE PANY PARK, NM	·			
ITEM	B B		ANNUAL ESTIMATED QUANTITY		TOTAL PRICE ANNUAL	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE ANNUAL
NO.	DESCRIPTION	MINIMUM (A)	MAXIMUM (B)	(C.)	(D) (B) X (C.) = D	(C.)	(D) (B) X (C.) = D	(C.)	(D) (B) X (C.) = D
16.	P 235/ 70 R 17 VOFR: DYNAPRO AS 108S	1	10	\$101.92	\$1,019.20	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PAR	T NUMBER			IRESTONE TION LE2				·
17.	12R22.5 G-622 RSD	1	40	\$368.48	\$14,739.20	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PART NUMBER		#248494 FIRESTONE FS561						
18.	LT 235/80R 17	1	10	\$123.33	\$1,233.30	\$0.00	\$0.00	\$0.00	\$0.00
PRODUCT BRAND AND PART NUMBER		#191265 FIRESTONE TRANSFORCE AT							
19.	LT 245/75R 17	1	40	\$124.66	\$4,986.40	\$0.00	\$0.00	\$0.00	\$0.00
	PRODUCT BRAND AND PAR	T NUMBER			IRESTONE ORCE AT				
	TOTAL SECTION A (ITEMS	1-19)			\$185,828.78		\$0.00		\$0.00
				TOTAL ANNUAL PRICE	3 YR TOTAL	TOTAL ANNUAL PRICE	3 YR TOTAL	TOTAL ANNUAL PRICE	3 YR TOTAL
GRAND TOTAL SECTION A			\$185,828.78	\$557,486.34	\$0.00	\$0.00	\$0.00	\$0.00	

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: /s/





**Project Name: APPARATUS TIRES** 

Solicitation #: 2016-251

Bid Opening Date: OCTOBER 14, 2015	`		Department: FIR
	REDBURN TIRE COMPANY SUNLAND PARK, NM	·	
OPTION TO EXTEND THE TERM OF THE AGREEMENT			
THE CITY AT ITS SOLE DISCRETION, MAY EXERCISE ANY OPTION TO EXTEND THE TERM OF THE AGREEMENT, BY GIVING THE CONTRACTOR WRITTEN NOTICE WITHIN THE TIME PERIOD NOTED ON THE SELECTED OPTIONS. THE TERM OF THIS CONTRACT SHALL BE BASED ON ONE OF THE SELECTIONS BELOW AND UNDER THE SAME TERMS AND CONDITIONS. THE CITY MANAGER OR DESIGNEE MAY EXTEND THE OPTION TO EXTEND.			
BIDDER OFFERS THE CITY THE OPTION OF EXTENDING THE TERM OF THE CONTRACT FOR:			
TWO (2) ADDITIONAL YEARS AT THE SAME UNIT PRICE(S), F THE OPTION IS EXERCISED PRIOR TO THE EXPIRATION OF THE ORIGINAL TERM OF THE CONTRACT:			
NO OPTION OFFERED	X		
PAYMENT TERMS:	NET - 30 DAYS		
BIDDER'S PROMISED DELIVERY: Within consecutive calendar days	24		
Within hours or overnight after receipt of verbal order in cases of emergency.	8		
F BIDDER DOES NOT SPECIFY AN EARLIER DELIVERY, THE CITY'S REQUIRED DELIVERY SHALL PRE			
BIDS SOLICITED: 38 LOCAL BIDS SOLICITED: 32 BIDS I	RECEIVED: 4 LOCAL BIDS REC	FIVED: 1 NO BID: (	<b>1</b>

APPROVED	BY:	/s/
DATE:	10/27/1	5

ADAMS TIRE PROS & AUTO CENTER 2001 S. VALLEY DRIVE LAS CRUCES, NM 88005 AMERICAN TIRE DISTRIBUTORS INC 10808 NOTUS LANE EL PASO. TX 79935 AG TIRES & TRUCK REPAIR 240 IRMA STREET CHAPARRAL, NM 88081

ALAMEDA TIRE 8739 ALAMEDA AVENUE EL PASO, TX 79907 A & A TIRE SERVICES CENTER 1403 E. AMADOR AVENUE LAS CRUCES, NM 88001 BIG O TIRES 1330 EL PASEO ROAD LAS CRUCES, NM 88001

BIG O TIRES 6240 MONTANA AVENUE EL PASO, TX 79925 BEST TIRE SERVICE 8801 DYER STREET EL PASO, TX 79904

CALIFORNIA TIRE 6612 ALAMEDA AVENUE EL PASO, TX 79905

C & M DISCOUNT TIRE CO. 2100 WEDGEWOOD DRIVE EL PASO, TX 79925 YEARWOOD TIRE CENTER 5401 DYER STREET EL PASO, TX 79904 COSTCO WHOLESALE INC 6101 GATEWAY WEST BLVD EL PASO, TX 79925

DISCOUNT TIRE 11201 GATEWAY WEST SUITE A EL PASO, TX 79935 DYER TIRE 9840 DYER STREET EL PASO, TX 79924 FIRESTONE COMPLETE AUTO CARE 5000 MONTANA AVENUE EL PASO, TX 79903

EL GALLITO INGLES 7306 NORTH LOOP DRIVE EL PASO, TX 79915 FORREST TIRE COMPANY INC 2305 GATEWAY SOUTH EL PASO, TX 79903

GLOBAL TIRES 2001 E. MILLS AVENUE EL PASO, TX 79901

GOODYEAR AUTO SERVICE CENTER 7440 N. MESA STREET EL PASO, TX 79912 GATEWAY EAST TIRE SHOP 2930 GATEWAY EAST EL PASO, TX 79905

INDUSTRIAL TIRE COMPANY 8411 LOCKHEED DRIVE EL PASO, TX 79925

JERRY'S AUTOMOTIVE SERVICE 9720 DYER STREET EL PASO, TX 79924

MAX TIRE AND PERFORMANCE 3515 DYER STREET EL PASO, TX 79930 MARTIN TIRE COMPANY 1341 N. LEE TREVINO EL PASO, TX 79936

ORNELAS TIRES 14360 HORIZON BLVD EL PASO, TX 79928

PEP BOYS 10501 GATEWAY WEST 11 EL PASO, TX 79925 QUALITY AUTOMOTIVE CENTER 5412 DONIPHAN DRIVE EL PASO, TX 79932 SEARS AUTO CENTER 8401 GATEWAY WEST EL PASO, TX 79925 SMART TIRES 5928 DYER STREET EL PASO, TX 79904 WICKER TIRE 701 W. PAISANO DRIVE EL PASO, TX 79901

TOP'S TIRE & WHEEL 1100 TEXAS AVENUE EL PASO, TX 79901 TIRE CONNECTION 6100 DEW DRIVE EL PASO, TX 79912 THE GOODYEAR TIRE & RUBBER COMPANY
P. O. Box 31565
PHOENIX, AZ 85046

WINGFOOT COMMERICAL TIRE 1459 BESSEMER DRIVE EL PASO, TX 79936 BRIDGESTONE/FIRESTONE NORTH AM TIRE LLC DBA GCR TIRE CENTERS 1025 TEXAS AVE. EL PASO, TX.79901

YEARWOOD TIRE CENTER 5401 DYER ELPASO, TX 79904

REDBURN TIRE COMPANY ATTN: JAMES ELLIS 2023 APPALOOSA SUNLAND PARK, NM 88063

R B WICKER TIRE & RUBBER CO 701 W PAISANO DRIVE EL PASO, TX 79901